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Section A (30 x 2 marks = 60 marks)
For each question from 1 to 30, four options are

answer. Make your choice (1.2,3 0r4). Shade t
the Optical Answer Sheet provided.

given. One of them is the correct
he correct ovajl (1,2, 3 or 4) on

1. An old lady commented afte
and fragrant "

Which of the following senses did she use?

r observing a fruit, “This vellnw fryit js both soft

A, Sight p3:Sense S
B. Smell
C. Touch
(1) AandB only (2) Aandc only
(3) BandcC only (4) A Bandc
2. Which of the following systems work togethei to enable Mary to play a
.game of sauash?
A circulatory system
B  muscular systeny
C respiralory system
D skeletal system
(1) AandcC only (2) BandD only
(3} A BandD only 4 A B CandD
3. Ceiamic is simiiar to glass because they are .
—_—
A brittle
B hard
C opaque )
D poor conductors of heat.
(i) AandD only (2) BandC only
(3) A BandD only (4) A, CandD only



4. Study the classification tabje below.

Invertebrates

Animals with legs

3 pairs of
legs

Animais withoyt legs
Segmented Non- segmented
body body

tick earthworm jellyfish
l A i I B ] l C l b ,

Which of the following best fepresent organisms A, B, C and D?

4 pairs of
legs

1) cockroach
&) rasshopper
(3) housef]
{4} l termite

5. Which one of the followin

g groups consists of g solid,.a liquid and g qas at

foom temperature?

) candy, milk._ bread

(2) hamier, steam, wie

(3) nitrofen, petrdleum, kerosene
(4) wax, mercury, butter
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Study the diagram below:.

lighted candle droplets of wax

Container filled with cold water

Which of the following staterments are true ahg

ut the droplets of wax when
thev land on the watar surrace?

They gain heat.

They lose heat.

They change state. ‘

They become a transparent substance.

oOO0Omr

{1 Aandc only (2)

AandD only
(3) BandcC only (4)

CandD only

Which one of the following statements aboyt énergy is false?

(1) Energy has No mass.

{2) Energy occupies space.

(3) Energy cannot be created.

(4) Fnergy can be obtained from food.

In which of the foliowing situation/s is/are friction useful?

A A match lights up when struch.

B. Shoes and tyres become worn out with use.

C. A bicycle slows down when the brakes are applied.
(1) A only (2) AandB only
(3) Aandc only (4) Bandc only

Which one of the following matter underlined below possesses
kinetic energy?

(1) The waves Splashing on a beach.
(2) A boulder resting on a steep cliff.
(3) The solidified lava a volcano,

4 boy about to hit #ball with his bt
4) A boy about to hj wi bal‘



10.  The diagram below shows a bimetallic strip made of iron ang brass.

€xpands more than iron, which one of the followin
bimetaliic strip after it has been heated?

(1) (2)

3) (4)

1.

What was the onginal length of the spring?

() 4cm (2 5cm
{3) 6cm (4) 7cm



12

13.

slightly first and then Fose again.

basi
coloured ”" n

ater

\\I$‘-\ aasye

S
i\\\ﬁ
N

|___boiling
water

e
Which one of the following best explains the above observationg?

(N The flask expanded faster than the water,
(2) The water expanded first and then contracted.
(3) The air in the flask was compressed first and then expandeq.

(4)  The downward movement of lowering the flasi Caused the
water level to fall ang rise.

Study the table below.

Object A B C
Prope
Is it flexible? Yes No | Yes
— ]

Is it a conductor of heat? | Good Poor | Poor

1 woollen gloves
\.2\ ()

‘3, brass knob wooden bench
a4 copper kettle diamond cutter




14.

(3)

4)

The Venn diagram below shows examples of activities Involving forces

Gravitational
Force

&

Frictionai
Force

Magnetic
Force

Which one of the following options correctly shows the forces in action?

A

—-—-—.ﬁ_,_‘*_a—-_______

B

Swimming across
a fast flowing
river

Dropping a
circular magnet
onto an iron
ram
Dropping a piece
of magnet onlo
the fioor
Diving into a
swimming pool

Skating up a

Kicking a

Walking
along a
winding path

ramp:

stone into

the drain
Stretching a
rubber band

Sharpening a

Wiiting with 3

Pushing a pile

C

— ]
Applying brake
to stop a car

knife

sendcil

of books acrosg

| atable |

— ]
Using a compass

]

T

Attracting a pajl
with a magnet
held above it

to look for
navigation

Picking up
marbles with
chopsticks
A train running on
a track




15, Alihad 3 rods labelled A, B and C. He carried out an activity with each of
the three rods using a bar magnet and recorded his results in the tabje
below. : 'J

Rod A

Bar magnet

Rod Result

A X was attracted to the

north pole of the Mmagnet but Y wag repelled.
[\ .

B Both X and Y were attracted to the south

pele of tha m

C Both X and Y had no effe
Awere brought near.

ct at all when both ends of the magnet

Which one of the following statements about Rods A, B and C is trye?

&N Only Rod A has magnetic properties.
3 Both Rods A and B are magnets.

$3)  Rod B is made of @ magnetic material but not Rod C.
4 _OnlyRodC can become a temporary magnet when stroked by a magnet.

79



CZ?
| N
E Magnet
Sheet A
Paper clip
String
7

Which of the following materials could sheet A be made of?

A Aluminium.

B Glass

"G~ Nickel
(1) AandB only {2) BandC only
(3} AandcC only (4) A, Band C

17.  Study the €nergy conversion diagram below

Chemical potential energy Electricai ener
~==tAlcal energy

X Y

Which of the following examples given below correctly represent
Xand Y?

X
A lighted bulb
2} | Exploding fireworks

) | Using a digital camera
{4 | Plants photosynthesizing

Using solar heaters at home
Radio blasting loud music
Starting a car engine

a solar calculator

I
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Fan /
\ l Oven Toaster

. ' : ’ B C D

(! Sound | Kinetic Light Chemical ]
ener ener ener otential ener

¢2) Kinetic Chemicat Heat Sound
ener otentiai enen ener ener

3 Sound Kinetic Heat Chemical
ener erer ener otentiaj ener

4 Light Heat Chemical Kinetic
energy energy l potential energy . energy

i

10



19 Ali drilled equal-sized

Start of ex periment

400mi
water

ould be likely observed when

Plasticine at the
base was removed froim all the coniainers zt the Same time to the point
before all the water was drained off?

(1)  Container ¢ tited downwards.
(2)  Both containers A and B tilted downwards.

(3)  Containers A and B moved up first and then down,
(4)  Thethree containers remained in balance.

20.  Study the diagram below.

A whistling ketlle was left on afighted stove. What s the energy
coﬁft&ﬁéﬁ’wben the water in the kettle started (o boil?

(1) heat energy — chemical potentia] e
(2) ightenergy —» kinetic energy +
(3} hght energy — chemical potential en .

(4) heat energy —— kinetic energy  + goungd energy i

NeIgy — light energy
sound energy

11



21.

Study the diagram below.

Which of the above setups possess both the following characteristics?

A The effort used is |

ess than half of the load
B The effort and loa

d move in the opposite direction.

(1) R only (2) s only i3
(3 Pands only (4) P,Qands only

12



22. The diagram below shows a Nitcracker.

The graph below shows the populatio

i
B C

Which one of the following letters A B, CorD indicates corre

Position of the fulcrum?
(1 A 2) B
(3 ¢

4 D

n ofgrasshoppers N a corn field.

Study it Carefully to answer Questions 23 ang 24.

23.

A

Y z
_—_—*—_—'_——____L_‘—__
Population X
of
grasshoppers

w
Number of weeks

What are the likeh reasons for the change in the pPopulation of
grasshoppers trom v to )’?
A a drought
B @ good crop of corr,
C a decrease in the number of birds
D an increase in the number of praying mantis.
(mn A only 2 B only
(3) BandcC only (4) AandD only

13

ectly the
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Wto X
(> | High birth rate
Low death rate

(2 |High birth rate
Low death rate

{3) | High birth rate
Moderate death
rate

() | Birth rate equals
death rate

High birth rate
Moderate death
rate

Birth rate equails
death rate

Birth rate equals
death rate

High birth rate
Low death rate

Birth rate equals
death rate

High birth rate
Moderate death
rate

High birth rate
Low death rate

High birth rate

Ytoz

Moderate death

l Food Web A l

| P

Food Web B |
ho

grass \
zebr/

cheetah

sparrow

plant

Food Web ¢

eagle

14



26.  Study the following food web given.

// ilapias \

water plants T,

[ ——
prawns Snhakeheads

I

dragonfly
tadpoles ——m————»

nymphs

Which of the following statemenis about the food web is true ?
N The only herbivores are prawns andtadpoles.

oy Only the snakehead and the dragonfly nymph are predators,
N\
o4

Tadpoles are the oniy food source for the dragonfly nymphs

Tilapias, prawns and tadpoles do not compete with each other for
food.

27.  lookatthe drawing of some animals shown below.

Which of the following communities do ail these three organisms belong to 7

\A marine community

8 leaf litter community

3 pond community )

b garden community.

(1) BandD only 2) AandD only

(3) B,CandD only 4) A, CandD only

44
15



29,

30.

Which of the following

conditions stated below affect the hving things in
the above community?

A The amount of sunlight availabler

B The temperature of the Surrounding

C The amount of dissolved oxygen in the water

D The presence of other types of living organisms in the water
(1) A Bandc only (2) A CcandD only
(3) B,CandD only (4} A/ B,CandD

A habitat could support a3 few communities.
statement(s) could explain why a garden could
rotting log and tree community in it ?

Which of the following
support g leaf litter, g

of

A Alt organisms living in the garden is a member of onefthe

comimunities.

8 There is competition for fcod amongst the Oor z2nisms of the
three communities.

C The physical conditi

(1) cC only (2} AandB only
(3) BandcC only 4) A BandcC
habitat?

(1) Both support only a community each.

(2)  There are food producers in both habitats.

(3) Thereisno fungi in both habitats to recycle matter.

{4)  Allanimals in both habitats breathe in dissolved oxygen.

41
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Section B (40 marks)

W

(a)

(b)

(a)

rite your answers to questions 31 to 46 in the Spaces providead.

31.

Study the diagram below

A BCD

/

Spanner

Muthu is'going to turnihe spanner o loosen the nut.

At which point must h
easily?

_—ﬁ_**——____‘*—*_.___

What type of simp
above example?

© apply his effort in order to loosen the nut most
(1 mark)

—_—

le machine does the spanner fepresent in the
{1 mark)

wniist gear B has 16 teeth and Gear D has 12 teeth. The a
direction

18



(b How many rounds would Peter need to move gear D if he wanied gear B
1o complete 3 rounds? ' "(1mark)

-

33. Study the diagram below.

; ice cieam
( cup of hot
tea

Room temperature at 30 °C

(&)  When placed in the same surrounding after a period of time, the ice
cream melted and the cup of hot tea cooled down. What does this
dbservatiormshow? (Tmark)

(b)  IHtheitems haﬂ-;taecfn placed in a room with temperature at 15 °C, what

would be oBserved of the cup of hot tea and ice cream?Q5 (1 mark)
ComPpareg ™ at;n A '

o—th

<0

19



34: Meilin prepared 2 setups shown below to collect

bure water, She Jeft them
in the garden for the same period of time.

Set-up 1 Set-up 2
\% / glass funnel _____ (
rubber [ glass jar——— |
stopper
] glass cylinder -—— {_{
_ salt solution ————_§
= =
- = | — \%\_ e

pure water

(a) Name both the source and type of energy for the above set-ups to work.

(1 mark)

—

(b) Draw in diagram above the amount of water collected in set-up 2. (1 mark)

(©) Explain your answer in (b} (1 mark)

Ay

20



35.

propeller

long twisted
rubber band

back whee]

(b)  Without changing the set-up of the car, wha

tnust he dodf he wants to
Increase the speed of his toy car?

(T mark)

—

32
21



ent below. He yseq
Rape. He kept adding
attracted to the magnet.

Sharif used the set-up below te conduct an experi
different magnetic materials of the same S@Ené(g

poll weights until the ma netic materiaj was no longer
W g g g
i =

magnet clanp object

weights
He repeated the experiment with different magnetic materials.

90 -

Amount of 50 4
forces
needed 40 4

Steel Soft fron Nickel Cobalt

Type of magnetic materia}

(a) What was the aim of the experiment above?

(1 mark)

N — __‘__§_~—_*__‘_7 e
(b)  Give another variable That mﬁsrbe'mongtanrfo—ﬁﬁe‘magneﬁn

materials in this experiment.

- -



(a)

- At which point, A, B, C or D, did the ball move with the fastest speed?

(1 mark)
_— - -
(b)  Explain your answer in {(a). {1 mark)

(c}  Why did the height of the balt decrease with each bounce? (2 marks)

i

23



d

o
38:  The diagram belotw shows 4 bells. A, B,.C 2233 in 5 circuijt.

iron naii

box Containing

bulb
batteries [~

glass rod

&) State the conversion of

energy when ihe circuit is closed.

(1 mark)

-

(b') Which of thege bells A, BorC will ring? (1 mark)

N T r———— »\-—

() Give a reason for your answer. (1 mark)

24



white paper

77/ —=r

" brass rod " wooden rod
A bunsen flame was then passed over the paper séveraf times.
white paper

. brass rod ) wooden rod ;
white paper  charreq

After a while, it was observed that the paper o

) ver the wooden rod scorched,
while the paperover the brass rod was not.

Explain these observations.
(1 mark)

(b) The diagram below Shows a cotton skirt w
hot iron placed on it. The iron was not in direct contact with the buttons as

skirt
= Material X
ron L Material Y

S
§ Scorched area

— ]

Based on the experiment in (a), what are the likely materials X and Y that
the buttons are made of? (1 mark)

Material X:
—_——

Material Y-

<6
25



ceiling fan

(@)  Namethe t

(b) Identify using the aiphabets listed in the di

(c) How does the appli

easier? (1 mark)

51



41, Zaki conducted an investigation to stud

Time of the day |
Da

Average no. of appearances in a 24h period ’ 2

In the day

How does the nnservatio

nin theg diagrarm above help to explain the data
that he has collecieas

(2 marks)

58



cold
and

cold warm
N \J and and
bright

(a)

(b)

(c)

He used i

e the snaijls were found after
half an hour
black paper black Daper
warm cold warm
and and and
dark dark dark

warm

. ] and

sright
At the beginning

At the end
of the experiment

of the experiment

Based on the resuits, what kind of living conditions do the snaiis prefer?
(Tmark)

—-———-__Q__\*—‘___‘_m-——m__

—h——_________———_.______

—_—
—_—

What should Tom do to ersure that his results are religble? (Tmark)

Why did Tom place

the snails in the centre of the tray at the beginning
of the experiment?

(1mark)
- _
T — _
59



(a)

(b)

N """‘—.'.!‘.‘j‘i"'""'?:"‘.“"'l__ ot A

v.::"‘_vj;JQ.q.;.

- Spread a layer - Build up the - Cover the top of the
of dry twiggy heap in 15¢m heap with 5 piece of
material either layers, varying black plastic
inalm Space the type of * Puncture jt a few !
Or on the material, times,
ground - Sprinkling each * Weight the cover

: layer with down with large
¢ manure will stones or old bricks.
¢ Speed up the - Leave for three
] composting months,
process,

In Step 2, manure is added to speed up the Composting process.
What is present in manure that helns the Composting process? {1 mark)

How does covering the top of the heap with a piece of black Plastic help
the composting process 2 (1 mark)

40



44.

Based nn the data ahaya

.

T
W,

B
v,

A group of Pupils counted the organi
recorded the resuitg as shown below.

12[\

No. of organisms

Opulation.
There are at least 4 Populations of foog

consumers. -
When ali the Plants are removeg from the

rotting log, ali the animal populations would
decrease.

Plants and fungi are the 2 groups of

L

Producers in thig Community.

30

» but a tick in the coirect column to jng
the following Statements is ‘True', ‘False’ or 'Not Possible 1o Tell.

’ Statements True
i. l All the 6-legged animals belong to one

S

Animais

More than g
legs ]

icate if each of

(2 marks)

False [Not possible |

f
to teli ’

b



45,

Grganisms was again counted at both trees X and Y.

Tree
No. of organisms in population A X Y Z
———— 2 TPopation A -
Just before the removal of tree 7 38 35 42
8everal hours after the removal of 49 54
tree £
—_— 1

List 2 possible reasons to explain the change in the size cf

, population A
observed attrees X and Y following the remeval of tree 2. (2 marks)
Reason 1:

e
-
Reason 2:

43

31



46,

A

Amount of food

The graphs below
different parts of th

show the digestion of
€ digestive system.

r Food A, B and C to pe eaten

Amount of food

Amount of food

Amount of food

32

Digested food
Food A
Food B

Food C

63




(a)

In which organ/s was digestion of Food A cafried out?

— —

(1 mark)

(b)  Using the key give
the amount of di
intestine.

nin the graphs above, draw

in the graph below to show
gested and undigested Food A

»Band C found in the large
(2 marks)
Food in large intestine

%

Amount of food

Food

(c) lettuce sweets milk

Which of the foods in the above tabje could Food C most likely to be?

(1 mark)
e END OF PAPER-._____

Setters:
Primary 6 Science teachers

by

33



Nanyang Primary School
Primary 6 Science SAl Exams (2006)

(ANSWER KEY)
SECTION A : (60 MARKS)
Qn no. Ans Qn no. Ans Qn no. Ans

1 4 11 4 21 3
2 4 12 1 22 1
3 3 13 1 23 3
4 4 14 2 24 1
5 2 15 3 25 2
6 3 16 1 26 1
7 2 17 4 27 1
8 3 18 3 28 4
9 1 19 1 29 1
10 2 20 4 [ 30 2

SECTION B (40 MARKS)

Qn No. | Answers

3la At point A

31b Wheel and axle

32a

4

| 32b 4 rounds

CPage Lol d



Answers

Qn No.
33a Heat is transferred from a region of high temperature to one of low
temperature.
33b The hot tea cools down faster and the ice-cream melts at a lower rate.
[ 34a The source is the sun and the type of energy is heat energy.
34b B
34c
A -,
—1. Aamperon
_ cv “Forafi o
S DM‘h ovt -
Usiten e 0 i
heal VP —|I=—=!" " B=
Heat from the sun heats up the salt solution and makes it evaporate. When
the water vapour touches the cool surfaces of the gas cylinder, it condenses
and the pure water will fall into the pure water container. However, as there
is an opening in setup 2, the water vapour can escape from the hole.
35a The long twisted rubber bd. n
35b Twist or spin the propeller more times so that the rubber band is twisted
more.
36a To find out which object had the strongest attraction to the magnet. ]
| 36b The mass of the weight must be the same.
37a C ]
37b At A, the ball possesses the most gravitational potential encrgy, so when it is
dropped more kinetic energy is converted from gravitational potential energy,
thus this ball moved with the fastest speed.
Yc Some of its kinetic energy is converted into sound encrgy and heat energy due
to friction between the ball and the surface of the floor.

- Pagelofl4



Qn No.

Answers T

18a

Chemical potential energy * electrical energy * sound energy

38b A and B will ring.

38c The glass rod is an insulator of electricity, so it causes the circuit to be open
therefore bell C cannot ring, however the copper coin and the circuit to be
closed, letting bell A and B ring.

39a When the burden flame passes over the paper, the paper gains heat. The
paper, causing half of it not pe scorched, however the wooden rod is a poor
gonductor of heat, so it cannot conduct heat away from the paper, causing the
other half of the paper to be scorched. -

39 Material X : Steel "~ Material Y : Plastic

40a Whee] and axle

4Qb Ceiling Fax : A Tap : X

40c The rod of the ceiling fan where the effort is applied at only needs to move a
shorter distance than the blades of the fan for them fo spin.

4] In the day, the temperature is high so the squirrel dees not appear so
frequently, If it does, it raises ifs tail fo provide shade in the hot sun. In the
night, the temperature is lower; the squirrel is more active and appears more
frequently.

42a The snails prefer a warm and dark place.

42b He should do the experiment 3 times to check if the snails really preferred
living conditions are the same.

42c. To make sure that the snails have equal distance to move to the area that they
bave chosen,

43a Pecomppsers are present papure and decomposers can help break down the
waste into simple substances.

43b The black plastic absorbs a lot of heat, which moisture in the manure and
waste and the decomposers can break them down quickly.

44 (i) Not pessible to tell

i) True
(iii)) i Trug
(iv) False
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Qn No. | Answers
45 Unfavourable environments
| Adapt to a new conditions.
46a The mouth
46b - —— b I -
- Foed 1y the Emat] i aTesT e
G Food in the wwal) intestine
N 8
Q20
N D
i
o 2
: !
o SN s
‘"‘i = EER N RN
food [\/pg; e
Ford —4upe
46¢ Miilk
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